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Time: 3 Hours

Note: 1 Q.No.l is compulsory. S
2. Attempt any Three question from Q.No.2 to Q.N0.6 &5 9 o o
3. Make suitable assumptions if requn'ed gé?‘:i:ﬁ:j? Q4
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Q.No.1 Solve Any Four Ao AR f,_ﬁw RARNE AN
a) Compute the bmep in bar, mean piston swggm:’ ' mﬁ reue

stroke, four cylinder C. I. engine having fo péciti

mm, brake power 265 kW at 2400 r%m_,.

this engine is a square, over square of ,1_.... ,

b) Why C.I engines exhibit more favp:gb

compared to the carbureted S. IQEW
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¢) What is mean by opposed tyg‘e ﬁn&‘:ga‘ﬂ

constant volume cyclexﬁﬂ <£
volume 2.75 liters. Wh&ﬁﬁé\ﬁﬂ ifie:
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Q;iﬁ&;?éﬁone hour duration on a single  (14)
W@W@nd engine is fitted with rope

£ aemm 2.4 kg; Calorific value of fuel =

Mf@ﬁg’;’“\lndmated mean effective pressure =
W N; Sprmg balance reading = 30 N;
%jﬂgl@‘ *‘i’ gﬁlperature rise of cooling water = 35 °C;
3¢ @“A ~Air used = 52.8 kg; Temperature of air in
era s of.exhaust gases = 410 °C; Cp (gases) = 1 kl/kg
h@l’%’bar, Calculate:

Q.No.2 a)
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Qﬁ’bﬁ air motion and swu'l in a C. . Engine combustion  (6)
h”ﬁtrmgent than in an S. 1. Engine.
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1 ‘le sketches the combustion phenomenon in S engine. Explain ~ (10)
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o = é’?‘ combustion. Discuss the effect-of engine variables on ignition
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SN &, o E W m?ﬁ.snns for efficiency of actual cycle is much lower than the air standard  (10)
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TS A ﬁ cy? List the major losses and differences in actual engine cycle and
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Q.No.4 a) Explain how supercharging helps to improve theﬂfao
limitations S eSS g0 o o

Y

b) The following data relate to a four-stroke cgcle getfol \engsng‘l‘*e‘f Hinc R4

Ambassador: Capacity of the petrol engine = 14%?‘Qﬁ*~ S“Wd, Wﬁi@hmx ;

power is developed = 4200 RPM, The v {;gi{m c; S8
speed) = 75%, The air-fuel ratio=13: 1 m PO
power) = 85 meter per sec., The Coef " | S

b oS i
of petrol = 0.74, Level of petrol sus WS
pressure and temperature = 1.013- m g

be made for the emulsion tube 4&@;
choke diameter. Calculate tl1 %,5
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Q.No.S5 a) Differentiate (Any,ffjg (5*2)

i) Scavenging : aﬁ W
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b) (10)

%g\’f”e ”IO% lean mixture at
? °€<ﬁ“ﬁd 1 bar. Assume that
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At t»;s a level temperature in °C.
| épélatlon

y%ssummlons made.
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altitude bx car
sea level; ”’Fﬁf_‘ﬂ;
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output of a supercharged 4-stroke (15)
or at 25°C and is passed on to a Cooler

iﬁde‘rs of 100 mm. bore and 110 mm stroke runs at
ul f_'uf torque of 150 Nm. The mechanical efficiency of

pﬁgﬁ rate of the engine;
v into’ compressor in kg per min.
cﬁ“\? How is it related with ASTM distillation curve of the fuel?  (§)
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